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rem ** HeyaWake **

'-- kansu_sengen --

def fnD1(X)=(X mod 4)+1

def fnD2(X)=((X+1) mod 4)+1

def fnD3(X)=((X+2) mod 4)+1

'-- koyu_hairetu --

dim H(50,35),FB(50,35),ALLHY (500,6),BM(150,3),HHABA(150,2),SUHE(150),RECTY (150)
dim GBM(150,3),GHABA(150,2),KRNBLT(50,50,1),SIKIRI(2,50,50)

dim MXLN(3),MXLEV(3),MXAKIHI(3), ZT(4),ZY (4),HT(4),HY (4),R4T(4),R4Y (4)

' -- sagyo-you_hairetu --

dim KHL(2000,2),HH(50,35),HFB(50,35),HBM(150,3),KHABA(150,2),HSUHE(150),HRECTY (150)
dim CFB(50,35),KARI(50,1),KNB(300,1),SYLT(100,1), HKUMASU(150,1),APKH(30,2,1)
dim HSU(50,50),GHSU(50,50),MITY (80,2),SYK(10,4,2),SETKR(3,10,2),SZLT(100,3)

dim MIM(50,2),HSYKH(50,1),CRETU(50,2),NRH(50,4)
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dim MITI(4,2),3Y GSP(50,1),CH(100,2,2),AKIMS(20,1)
dim N(100), SKLIST(30),BITI(50),BNAGASA(50),SPA(100),MXMASU(50),G(50),D(6),KD(4)
'-- data_yomi --

gosub *DATAYOMI

'-- syoki_settei --

for I=1 to GN:for J=1 to RN: H(l,J)=0: next J,I

for 1=0 to GN+1: H(1,0)=-10:H(I,RN+1)=-10: next |

for J=1 to RN: H(0,J)=-10:H(GN+1,J)=-10 : nextJ

for 1=1 to 3: read MXLEV(l): next |

data 2,4,400

for 1=1 to 3: read MXAKIHI(1): next |

data0.3,0.7,1.0

for I=1 to 3: read MXLN(I): next |

data 30,100,10000

for I=1to4: read ZT(1),ZY(l): next |

data-1,0, 0,1, 1,0, 0,-1

for1=1to4: read HT(I1),HY(I): next |

data-1,1, 1,1, 1,-1, -1,-1

for 1=1 to 4: read R4T(1),R4Y (1): next |
data3,-1,-1,-1,-1,3, 3,3

'-- sumihen & REC_ti --

for 1I=1 to ALLHYN: gosub * SUMIHEN:gosub *RECTY PE: next |
'-- sikiri_hairetu --

gosub *SIKIRIHAIRETU

'-- start --

LEVEL=1: KETUTY=1:KMSTY=1:STDSYORI=1
FKAN=0: KAISYORI=1

while KAISYORI=1

KAISYORI=0

for 1=1 to GN:for J=1 to RN: H(l,J)=0:FB(l,J)=0: next J,I|

gosub *KUMASUHEYA ' kumasu_jyoho

for 1=1 to BMN:for J=0 to 3: BM(I,J)=GBM(l,J): next J,|

for I=1 to BMN:for J=1 to 2: HHABA(I,J)=GHABA(I,J): next J,|
' first_clue

gosub *FIRSTCLUE

FMUSY=0: FMRK=0: FMUSEN=1: MSY ORISU=0
' musyori_modosi
*MUSYOMODOSI
GIHOSYORI=1: FMU=0
while GIHOSYORI=1
GIHOSYORI=0: ZOKA=1
while ZOKA=1
ZOKA=0
' - kuromasu-jyoho_riyou -
if FMRK=1 then FMRK=0: gosub *MAINRECKETU
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if ZOKA=0 then gosub *AKIMASUKETU
if ZOKA=0 then gosub *RECTY 23KETU
if ZOKA=0 then gosub *REC334SY ORI
if ZOKA=0 then gosub *KUROBUNDAN
if ZOKA=0 then gosub *AKIREN3
if ZOKA=0 then gosub *KUROSETUDAN
wend
gosub *HEYASYUKUSYO
if ZOKA=0 then gosub *REC1IBUNKETU
if (ZOKA=0)and(FMUSY =0) then gosub *REC23SENTAKU
' -- level-2_syori --
if LEVEL>=2 then
if ZOKA=0 then gosub *KYOTUSIRO
if ZOKA=0 then gosub *REC44SENTAKU
if ZOKA=0 then gosub *NANAMETOBIDASI
if ZOKA=0 then gosub *HENSESY OKU
if (ZOKA=0)and(FMUSY =0) then gosub *KUMASU1GR
if ZOKA=0 then gosub *NOKORIPL1
if ZOKA=0 then gosub *SETUDANHIGHLEVEL
if ZOKA=0 then gosub *HEYABUNKATU
end if
' -- level-3_syori --
if LEVEL>=3 then
if ZOKA=0 then gosub *LARGEHEYAKETU
if ZOKA=0 then gosub *KUMASUIMAWARISIRO

if ZOKA=0 then gosub *NEWREC235HASEI
endif

if ZOKA=1 then GIHOSYORI=1
wend
' mujyun_ari?
if FMUSY =1 then gosub *BADCHECK
if FMU=0 then
gosub *KANSEI
if FKAN=1 then goto *KANS
if FMUSEN=1 then
FMUSEN=0
gosub *REC235KOHOSU
if (AKIHIRITU>=0.05)and(REC235N>MXLEV (LEVEL))and(LEVEL<3) then *LEVELUP
end if
end if
' mujyun_syori
gosub *MUJY UNSY ORI
if FMSTOP=0 then *MUSYOMODOSI
"level _up
*LEVELUP
if LEVEL<3 then
LEVEL=LEVEL+1: FMUSEN=1:KAISYORI=1
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if LEVEL=2 then KETUTY=2:STDSY ORI=2

if LEVEL=3 then KETUTY=3:KMSTY=2:STDSYORI=3
end if
wend

*KANS
" level _up(tema-kasan)
if (LEVEL=2)and(MSY ORISU>=20) then LEVEL=3
if (LEVEL=1)and(MSY ORISU>=10) then LEVEL=2
locate 50,21: print "LEVEL=";LEVEL
end
:ir ' Sub Rutin :::
*DATAYOMI

open "ahwprob.dat" for input as #1

input #1,GN,RN

" heya jyoho

input #1,ALLHYN

for I=1 to ALLHYN: for J=0 to 4

input #1,ALLHY(l,J)
next J,1
return

*SUMIHEN
LUI=ALLHY(1,0):LU2=ALLHY(I,1): LD1=LU1+ALLHY(I,2)-1:LD2=LU2
RUI=LU1:RU2=LU2+ALLHY(I,3)-1: RD1=LD1:RD2=RU2
gosub * SUMIHENKEISAN: ALLHY(I,5)=SUHE
return

*SUMIHEN2
LU1=BM(I,1):LU2=BM(I,2): LD1=LU1+HHABA(I,1)-1:LD2=LU2
RU1=LU1:RU2=LU2+HHABA(I,2)-1: RD1=LD1:RD2=RU2
gosub * SUMIHENKEISAN: SUHE(l)=SUHE
return

*SUMIHENKEISAN
'--par.LU1,LU2,LD1,LD2,RU1,RU2,RD1,RD2 --
SUHE=0
if LUl=1 then SUHE=11
if RU2=RN then SUHE=12
if LD1=GN then SUHE=13
if LU2=1 then SUHE=14
if (LUI=1)and(LU2=1) then SUHE=1
if (RU1=1)and(RU2=RN) then SUHE=2
if (RD1=GN)and(RD2=RN) then SUHE=3
if (LD1=GN)and(LD2=1) then SUHE=4
return

21
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*RECTY PE
HBT=ALLHY(I,2):HBY=ALLHY(I,3): gosub *RECKEISAN
ALLHY (1,6)=REC
return

*RECTY PE2
HBT=HHABA(I,1):HBY=HHABA(I,2): gosub *RECKEISAN
RECTY (1)=REC
return

*RECKEISAN
' -- par. HBT,HBY --
REC=0
if (HBT=1)or(HBY=1) then REC=1
if (HBT=2)and(HBY =2) then REC=2
if (HBT=2)and(HBY=3))or((HBT=3)and(HBY =2)) then REC=3
if (HBT=3)and(HBY =3) then REC=4
if (HBT=2)and(HBY >=4))or((HBY=2)and(HBT>=4)) then REC=5
return

*KUMASUHEYA

BMN=0

for 1=1 to ALLHYN
if ALLHY(1,4)>=0 then
BMN=BMN+1
GBM(BMN,0)=0:GBM(BMN,1)=ALLHY (1,0):GBM(BMN,2)=ALLHY(l,1):GBM(BMN,3)=ALLHY (1,4)
GHABA(BMN,1)=ALLHY(I1,2):GHABA(BMN,2)=ALLHY(l,3)
SUHE(BMN)=ALLHY(l,5): RECTY(BMN)=ALLHY (1,6)
end if

next |

return

*SIKIRIHAIRETU
for TY=1to02
if TY=1 then GRN1=RN:GRN2=GN else GRN1=GN:GRN2=RN
for 1=1 to GRN1
SITI=1: SKN=0
while SITI<=GRN2
if TY=1 then TST=SITI:TSY=I else TST=1:TSY=SITI
gosub *GAITOHEYA2
SITI=ALLHY(GHEYA,TY-1)+ALLHY (GHEYA,TY+1)
if SITI<=GRN2 then SKN=SKN+1: SIKIRI(TY,I,SKN)=SITI
wend
SIKIRI(TY,I,0)=SKN
next |
next TY
return
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*FIRSTCLUE
' KUROMASU=0_case
for 1I=1 to BMN
BT=BM(I,1):BY=BM(I,2): HBT=HHABA(I,1):HBY=HHABA(l,2)
if BM(1,3)=0 then
BM(1,0)=1
for P=BT to BT+(HBT-1):for Q=BY to BY+(HBY-1): H(P,Q)=-1: next Q,P
end if
next |
' KUROMASU>0_case
gosub *MAINRECKETU
return

*MAINRECKETU
for I=1 to BMN
if BM(1,0)=0 then
BT=BM(l,1):BY=BM(I,2): HBT=HHABA(I,1):HBY=HHABA(,2)
TY=1:NAGASA=HBT: IF HBY>NAGASA then TY=2:NAGASA=HBY
select case RECTY(I)
case 1
if NAGASA=2*BM(l,3)-1 then
BM(1,0)=1
for 19=1 to BM(1,3)
if TY=1 then BIT=BT+2*(19-1):BIY=BY else BIT=BT:BlIY=BY +2*(19-1)
gosub * KUROMASUHASEI
next 19
end if
case 2
if (BM(l,3)=2)and(1<=SUHE(l))and(SUHE(l)<=4) then
SUHE=SUHE(l):gosub *KADOITI
BIT=WT:BIY=WY :gosub *KUROMASUHASEI
end if
case 3
if (BM(l,3)=3)and(SUHE(I)>=11) then
if (SUHE(I) mod 2)=TY-1 then
SUHE=SUHE(l):gosub *HENTYITI: H(WT,WY)=-1: ZOKA=1
end if
end if
case 4
if BM(I,3)=5 then
BM(1,0)=1
CENT=BT+1:CENY=BY+1
BIT=CENT:BIY=CENY :gosub *KUROMASUHASEI
for D4=1to 4
BIT=CENT+HT(D4):BIY=CENY +HY (D4):gosub *KUROMA SUHA SEI
next D4
end if
end select
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end if
next |
return

*KADOITI
if (SUHE=1)or(SUHE=2) then WT=1 else WT=GN
if (SUHE=1)or(SUHE=4) then WY =1 else WY=RN
return

*HENTYITI
if SUHE=11 then WT=1:WY=BY
if SUHE=12 then WT=BT:WY=RN
if SUHE=13 then WT=GN:WY=BY+HBY-1
if SUHE=14 then WT=BT+HBT-1:WY=1
return

*MAWARISIRO
' -- par. BIT,BIY --
for MD=1to 4
ZOT=BIT+ZT(MD):ZOY=BIY+ZY (MD)
if H(ZOT,ZOY)=0 then H(ZOT,ZOY)=-1: ZOKA=1
next MD
return

*KUROMASUHASEI
' -- par. BIT,BIY --
H(BIT,BIY)=1: ZOKA=1
gosub *MAWARISIRO
return

*AKIMASUKETU

for I=1 to BMN

if BM(1,0)=0 then
HYB=Il:gosub *MASUTI
KTKU=BM(I,3)-KUMASU
" heya _mitasu?
if MIMASU=0 then BM(l,0)=1: ZOKA=1: return
' KTKU=0_case
if KTKU=0 then
for 19=1 to MIMASU: H(MIM(19,1),MIM(19,2))=-1: next |19
BM(1,0)=1:ZOKA=1: return
end if
' KTKU=MIMASU_case
if KTKU=MIMASU then
for 19=1 to MIMASU
BIT=MIM(19,1):BIY=MIM(19,2):gosub * KUROMASUHASEI
next 19
BM(l,0)=1: return
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end if
end if
next |
return

*MASUTI

'--par. HYB --

MIMASU=0:KUMASU=0:AKIMASU=0

STT=BM(HYB,1):STY=BM(HYB,2)

for I11=STT to STT+HHABA(HYB,1)-1:for I2=STY to STY+HHABA(HYB,2)-1
if H(11,12)=0 then MIMASU=MIMASU+1: MIM(MIMASU,1)=I1:MIM(MIMASU,2)=12
if H(11,12)=1 then KUMASU=KUMASU+1
if H(11,12)=-1 then AKIMASU=AKIMASU+1:AKITI=I1:AKIYI=I2

next 12,11

return

*RECTY23KETU
for I=1 to BMN
if (BM(1,0)=0)and(BM(I,3)>=2) then
REC=RECTY(l)
if (REC=2)or(REC=3)or(REC=5) then
HBT=HHABA(I,1):HBY=HHABA(l,2)
NAGASA=HBT: if HBY>NAGASA then NAGASA=HBY
' case_A(tenkei_type)
if BM(1,3)=NAGASA then
HYB=l:gosub *MASUTI
if AKIMASU>(0 then
for BIT=BM(l,1) to BM(l,1)+HBT-1:for BIY=BM(l,2) to BM(l,2)+HBY-1
FGK=(abs(BIT-AKITI)+abs(BIY-AKIYI)) mod 2
if FGK=1 then gosub *KUROMASUHASEI
next BIY,BIT
BM(1,0)=1: ZOKA=1: return
end if
end if
' case_B( KETUTY>=2_case)
if (KETUTY>=2)and((BM(I,3)=NAGASA-1)or(BM(I,3)=NAGASA-2))and(NAGASA<=6) then
gosub *KAISUKEISAN
if ZOKA=1 then return
end if
end if
end if
next |
return

*REC334SYORI
for I=1 to BMN
if (BM(1,0)=0)and(RECTY (l)=4)and(BM(l,3)=4) then
CENT=BM(I,1)+1:CENY=BM(I,2)+1
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for D4=1to4
NT=CENT+ZT(D4):NY=CENY+ZY (D4)
if HINT,NY)=0 then H(NT,NY)=-1: ZOKA=1
next D4
' tojinai_syori
for D4=1to 4
NT=CENT+2*ZT(D4):NY=CENY +2*ZY (D4)
if (H(NT,NY)=-10)or(H(NT,NY)=1) then
BIT=CENT+HT(fnD1(D4)):BIY=CENY+HY (fnD1(D4))
if H(BIT,BIY)=0 then gosub *KUROMASUHA SEI
BIT=CENT+HT(fnD2(D4)):BIY=CENY+HY (fnD2(D4))
if H(BIT,BIY)=0 then gosub *KUROMASUHA SEI
end if
next D4
end if
next |
return

*KUROBUNDAN
for T=1 to GN:for Y=1 to RN: CFB(T,Y)=0: next Y,T

for T=1 to GN:for Y=1 to RN
if (H(T,Y)=1)and(FB(T,Y)=0)and(CFB(T,Y)=0) then
ST=T:SY=Y:SETUDANTY=1: gosub *KURONARABI
if SESYN=0 then
for J9=1 to KRNB: FB(KNB(J9,0),KNB(J39,1))=1: next J9
else
' setudan?
for Q9=1 to SESYN
ST=SYLT(Q9,0):SY=SYLT(Q9,1): DBSU=0
for D4=1to4
NT=ST+HT(D4):NY=SY +HY (D4)
for K9=1 to KRNB
if (NT=KNB(K9,0))and(NY=KNB(K9,1)) then DBSU=DBSU+1: exit for
next K9
next D4
if DBSU>=2 then H(SYLT(Q9,0),SYLT(Q9,1))=-1: ZOKA=1
next Q9
if ZOKA=1 then return
' CFB_kiroku
for J9=1 to KRNB: CFB(KNB(J9,0),KNB(J9,1))=1: next J9
end if
end if
next Y, T
return

*AKIREN3
for TY=1to 2
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if TY=1 then LT=RN else LT=GN
forI=1toLT
"sikiri_retu
SIT=I:gosub *SIKIRIRETU
for Q1=1 to SKN-1
S1=SKLIST(Q1):S2=SKLIST(Q1+1)
if TY=1 then H1=H(S1-1,1):H2=H(S2,I) else H1=H(I,S1-1):H2=H(l,S2)
" hantei
TYTI=I:gosub * AKISPASU
if (H1=0)and(H2=-1)and(AKISU=S2-S1) then
if TY=1 then BIT=S1-1:BIY=I else BIT=I:BIY=S1-1
gosub *KUROMASUHASEI: return
end if
if (H1=-1)and(H2=0)and(AKISU=S2-S1) then
if TY=1 then BIT=S2:BIY=I else BIT=I:BIY=S2
gosub *KUROMASUHASEI: return
end if
if (H1=-1)and(H2=-1)and((AKISU=S2-S1-1)and(SPASU=1)) then
if TY=1 then BIT=SPA(1):BIY=I else BIT=I:BIY=SPA(1)
gosub *KUROMASUHASEI: return
end if
next Q1
next |
next TY
return

*SIKIRIRETU
' par. TY,SIT --
SKN=SIKIRI(TY,SIT,0)
for S9=1 to SKN: SKLIST(S9)=SIKIRI(TY,SIT,S9): next S9
return

* AKISPASU
AKISU=0:SPASU=0: FKUMS=0
for A9=SI to S2-1
if TY=1 then HTI=H(A9,TYTI) else HTI=H(TYTI,A9)
if HT1=-1 then AKISU=AKISU+1
if HT1=0 then SPASU=SPASU+1: SPA(SPASU)=A9
if HT1=1 then FKUM S=1

next A9
return

*RECIBUNKETU
for I=1 to BMN
if (BM(1,0)=0)and(RECTY (1)=1) then
BT=BM(l,1):BY=BM(I,2): HBT=HHABA(l,1):HBY=HHABA(I,2)
if HBT=1 then NGSTY=1:NAGASA=HBY else NGSTY=2:NAGASA=HBT
REC=RECTY (I): gosub *RETUBUNKATU
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if BUNDANSU=2 then
HYB=l:gosub *MASUTI
NRMASU=BM(l,3)-KUMASU
SMASUWA=0
for B9=1 to BUNDANSU: SMASUWA=SMASUWA+int(BNAGASA(B9)+1)/2): next B9
if SMASUWA=NRMASU then
for B9=1 to BUNDANSU
if BNAGASA(B9)=1 then
if NGSTY =1 then BIT=BT:BlIY=BY+BITI(B9)-1 else BIT=BT+BITI(B9)-1:BIY=BY
gosub *KUROMASUHA SEI
end if
next B9
if ZOKA=1 then return
end if
end if
end if
next |
return

*HEYASYUKUSYO

for 1=1 to BMN

if (BM(1,0)=0)and(not((RECTY (1)=4)and(BM(1,3)=4))) then
BT=BM(l,1):BY=BM(I,2): HBT=HHABA(I,1):HBY=HHABA(,2)
gosub *SYUKUSYO
if (SHBT<HBT)or(SHBY <HBY) then
FMRK=1: ZOKA=1
" nokori_kuromasu
HYB=l:gosub *MASUTI
KMSU1=KUMASU
' oki_kae
BM(1,1)=SBT:BM(l,2)=SBY: HHABA(l,1)=SHBT:HHABA(l,2)=SHBY
HYB=Il:gosub *MASUTI
BM(1,3)=BM(l,3)-(KMSU1-KUMASU)
' REC,SUHE
gosub *RECTY PE2: gosub * SUMIHEN2
end if

end if

next |

return

*SYUKUSYO
'-- par. BT,BY ,HBT,HBY --
' tate_syukusyo
TY=1: gosub *SYUKUSY ORI
SBT=SBTY:SHBT=SHBTY
" yoko_syukusyo
TY=2: gosub *SYUKUSY ORI
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SBY=SBTY:SHBY=SHBTY
return

*SYUKUSY ORI
if TY=1then BTY=BT:HBTY=HBT:LENG8=HBY else BTY=BY:HBTY=HBY:LENG8=HBT
"up, left
for S9=1 to HBTY
gosub *RENCH
if FREN=0 then SYHABA=S9-1: exit for
next S9
SBTY=BTY+SYHABA: SYH1=SYHABA
' down,right
for SO=HBTY to 1 step -1
gosub *RENCH
if FREN=0 then SYHABA=HBTY-S9: exit for
next S9

SHBTY=HBTY-(SYH1+SYHABA)
return

*RENCH
FREN=1
for J8=1 to LENGS
if TY=1 then GT=S9:GY=J8 else GT=J8:GY=S9
if HBBT+GT-1,BY+GY-1)=0 then FREN=0:exit for
next J8
return

*HEYABUNKATU
for I=1 to BMN
if (BM(1,0)=0)and(BM(1,3)>=2) then
REC=RECTY(l)
if (REC=1)or(REC=3)or(REC=5) then
BT=BM(I,1):BY=BM(I,2): HBT=HHABA(I,1):HBY=HHABA(l,2)
NGSTY=1:NAGASA=HBY: if HBT>HBY then NGSTY=2:NAGASA=HBT

gosub *RETUBUNKATU

HYB=Il:gosub *MASUTI

if BUNDANSU>=2 then

'-- case_A --

NRMASU=BM(l,3)-KUMASU:DANSU=REC: gosub *BNKTHAN

else

'--case B --

if (REC<>1)and(MIMASU=NAGASA)and(AKIMASU=NAGASA) then
BUNDANSU=1:SIT=1: MSTI=H(BT,BY)

for B9=1 to NAGASA
if NGSTY=1 then ST=BT:SY=BY+(B9-1) else ST=BT+(B9-1):SY=BY
if H(ST,SY)<>MSTI then
BITI(BUNDANSU)=SIT:BNAGASA(BUNDANSU)=B9-SIT
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BUNDANSU=BUNDANSU+1: SIT=B9: MSTI=H(ST,SY)

end if
next B9
BITI(BUNDANSU)=SIT:BNAGASA(BUNDANSU)=NAGASA-SIT+1

NRMASU=BM(1,3):DANSU=1: gosub *BNKTHAN
end if
end if
if ZOKA=1 then return
end if
end if
next |
return

*RETUBUNKATU

if REC=1 then CSU=1 else CSU=2

BUNDANSU=0: AKIL=0

for B9=1 to NAGASA

FBUNDAN=1

for Cl=1 to CSU

if NGSTY =1 then CT=BT+(CI-1):CY=BY+(B9-1) else CT=BT+(B9-1):CY=BY +(ClI-1)
if H(CT,CY)=0 then FBUNDAN=0

next ClI

if FBUNDAN=0 then

if AKIL=0 then SIT=B9

AKIL=AKIL+1

else ' FBUNDAN=1

if AKIL>0 then
BUNDANSU=BUNDANSU+1: BITI(BUNDANSU)=SIT:BNAGASA(BUNDANSU)=AKIL
AKIL=0

end if

end if

next B9

if AKIL>0 then BUNDANSU=BUNDANSU+1:BITI(BUNDANSU)=SIT:BNAGASA(BUNDANSU)=AKIL
return

*BNKTHAN
' -- par. NRMASU,DANSU --
SMASUWA=0
for B9=1 to BUNDANSU
if DANSU=1 then MM S=int((BNAGASA(B9)+1)/2) else gosub *MXMASUKETU
MXMASU(B9)=MMS: SMASUWA=SMASUWA+MXMASU(B9)
next B9
if SMASUWA=NRMASU then
" bunkatu_syori
FMRK=1
for B9=1 to BUNDANSU
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if B9=1 then BBAN=I else BMN=BMN+1:BBAN=BMN
BM(BBAN,0)=0:BM(BBAN,3)=MXMASU(B9)

if NGSTY =1 then ST=BT:SY=BY+BITI(B9)-1 else ST=BT+BITI(B9)-1:SY=BY
BM(BBAN,1)=ST:BM(BBAN,2)=SY

if NGSTY=1 then HHABA(BBAN,1)=HBT:HHABA(BBAN,2)=BNAGASA(B9)
if NGSTY=2 then HHABA(BBAN,1)=BNAGASA(B9):HHABA(BBAN,2)=HBY
' REC,SUHE
1=BBAN:gosub *RECTY PE2:gosub * SUMIHEN2

next B9

ZOKA=1

end if

return

*MXMASUKETU
' GHSU,MITY _sakusei
if NGSTY =1 then HMBT=BT:HMBY=BY +BITI(B9)-1:HBT=CSU:HBY=BNAGASA(B9)
if NGSTY=2 then HMBT=BT+BITI(B9)-1:HMBY=BY:HBT=BNAGASA(B9):HBY=CSU
HMMTY=0:gosub *HSUMITY MAKE

FKETU=0: SUHEM=0

for KUMASUN=2 to BNAGASA(B9)

for 11=1 to HBT:for 12=1 to HBY: HSU(11,12)=GHSU(I1,12): next 12,11
gosub * TATEKENSAKU

if KANOSET=0 then FKETU=1: exit for

next KUMASUN

if FKETU=1 then MMS=KUMASUN-1 else MMS=BNAGASA(B9)
return

' -- local _check --

*LOCBUNDANCH
' -- par. ST,SY --
SETUDANTY =1:gosub *KURONARABI
FBAD=0
' -- ban-bundan_check --
HENITN=0
for L9=1 to KRNB
CT=KNB(L9,0):CY=KNB(L9,1)
if (CT=1)or(CT=GN)or(CY=1)or(CY=RN) then HENITN=HENITN+1
next L9
if HENITN>=2 then FBAD=1: return
' -- toji_check --
if KRNB<4 then return
" bunki-su_sirabe
for L9=1 to KRNB
CT=KNB(L9,0):CY=KNB(L9,1)
N(L9)=0
for D4=1to 4

NT=CT+HT(D4):NY=CY +HY (D4)
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for CH9=1 to KRNB
if (NT=KNB(CH9,0))and(NY=KNB(CH9,1)) then N(L9)=N(L9)+1: exit for
next CH9
next D4
next L9
HANSU=0
for L9=1 to KRNB
if N(L9)=1 then HANSU=HANSU-1
if N(L9)=3 then HANSU=HANSU+1
if N(L9)=4 then HANSU=HANSU+2
next L9
if HANSU>=0 then FBAD=1
return

*LOCAKIRENCH
' -~ par. CRETUN,CRETU(), KARIN,KARI() --
FBAD=0
for L9=1 to CRETUN
TY=CRETU(L9,1):I=CRETU(L9,2)
gosub *NARABISIRABE
if FBAD=1 then exit for
next L9
return

*NARABISIRABE
'--par. TY,I --
"sikiri_retu
FBAD=0
SIT=l:gosub *SIKIRIRETU
for Q1=1 to SKN-1
SI=SKLIST(Q1):S2=SKLIST(Q1+1)
if TY=1 then H1=H(S1-1,1):H2=H(S2,I) else H1=H(I,S1-1):H2=H(l,S2)
" hantei
if (H1=-1)and(H2=-1) then
TYTI=l:gosub * AKISPASU
if AKISU=S2-S1 then FBAD=1: return
end if
next Q1
return

*LOCKUMASUCH
' gaito_heya
for B9=1 to BMN: N(B9)=0: next B9
for 13=1 to KARIN
TST=KARI(13,0):TSY=KARI(I3,1):gosub *GAITOHEY A
if FGAITO=1 then N(GHEYA)=N(GHEYA)+1
next 13
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" hantei
for Bl=1 to BMN
if N(BI)>=2 then
KBADTY=1:gosub *KUMASUBAD
if FKMSBAD=1 then FBAD=1: exit for
end if
next Bl
return

*GAITOHEYA

'-- par. TST,TSY --

FGAITO=0:GHEYA=0

for B9=1 to BMN

if BM(B9,0)=0 then
if (BM(B9,1)<=TST)and(TST<BM(B9,1)+HHABA(B9,1))and(BM(B9,2)<=TSY)and
(TSY<BM(B9,2)+HHABA(B9Y,2)) then
FGAITO=1:GHEY A=B9: exit for

end if

end if

next B9

return

*GAITOHEYA2
'-- par. TST,TSY --
for GHEYA=1 to ALLHYN
TI=ALLHY(GHEYA,0):Y1=ALLHY (GHEYA,1):
T2=TI1+ALLHY(GHEYA,2)-1:Y2=Y 1+ALLHY(GHEYA,3)-1
if (T1<=TST)and(TST<=T2)and(Y 1<=TSY)and(TSY<=Y2) then return
next GHEYA
return

*REC23SENTAKU
for RI=1 to BMN
if BM(RI,0)=0 then gosub * SENTAKUSY ORI
if ZOKA=1 then return
next RI
return

*SENTAKUSY ORI
"-- par. RI --
RECTI=RECTY (RI)
if (RECTI=2)or(RECTI=3)or(RECTI=5) then
HBT=HHABA(RI,1):HBY=HHABA(RI,2)
if HBT=2 then NGSTY=1:NAGASA=HBY else NGSTY=2:NAGASA=HBT
if BM(RI,3)=NAGASA then
' sentaku_syori(mujyun_riyo)
BIT=BM(RI,1):BIY=BM(RI,2)
for Q2=1to0 2

33



34

if Q2=1 then STI=1 else STI=-1
" kari_set
gosub *KARIOKI
" hantei
if Q2=1 then ST=BIT:SY=BIY else ST=BIT+1:SY=BIY
gosub *LOCBUNDANCH
if FBAD=0 then gosub * SENAKIJYUNBI:gosub *LOCAKIRENCH
if FBAD=0 then gosub *LOCKUMASUCH
' modosi
gosub *MODOSI
' good_sentaku?
if FBAD=1 then
if Q2=1 then H(BIT,BIY)=-1 else gosub *KUROMASUHASEI
ZOKA=1: return
end if
next Q2
end if

endif
return

*KARIOKI

for 19=1 to NAGASA

if NGSTY=1 then NT=BIT:NY=BIY+(19-1) else NT=BIT+(19-1):NY=BIY
if NGSTY=1 then MT=NT+1:MY=NY else MT=NT:MY=NY+1
H(NT,NY)=STI: H(MT,MY)=-STI

STI=STI*(-1)

next 19

KARIN=0

ZNGS=(NAGASA mod 2)

I9UP=NAGASA-1+ZNGS:I9DW=NAGASA-1-ZNGS: IF Q2=2 THEN SWAP I9UP,I9DW
for 19=1 to I9UP

if NGSTY=1 then NT=BIT-1:NY=BIY +(19-1)+(Q2-1) else NT=BIT+(19-1)+(Q2-1):NY=BIY-1
if H(NT,NY)=0 then H(NT,NY)=-1: KARIN=KARIN+1:KARI(KARIN,0)=NT:KARI(KARIN,1)=NY

next 19
for 19=1 to I19DW

if NGSTY=1 then MT=BIT+2:MY=BIY +19+(1-Q2) else MT=BIT+9+(1-Q2):MY=BIY +2
if H(MT,MY)=0 then H(MT,MY)=-1: KARIN=KARIN+1:KARI(KARIN,0)=MT:KARI(KARIN,1)=MY

next 19

if NGSTY=1 then NT=BIT+(Q2-1):NY=BIY-1 else NT=BIT-1:NY=BIY +(Q2-1)

if H(NT,NY)=0 then H(NT,NY)=-1: KARIN=KARIN+1:KARI(KARIN,0)=NT:KARI(KARIN,1)=NY
ZOBUN=ZNGS*(Q2-1)+(1-ZNGS)* (2-Q2)

if NGSTY =1 then MT=BIT+ZOBUN:MY=BIY+NAGASA else MT=BIT+NAGASA:MY=BIY+ZOBUN
if H(MT,MY)=0 then H(MT,MY)=-1: KARIN=KARIN+1:KARI(KARIN,0)=MT:KARI(KARIN,1)=MY

if SUHE(RI)>=11 then

ST=BM(RI,1):SY=BM(RI,2):SUHE=SUHE(RI):gosub *HENSIROITI
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if HHTI1,HY11)=0 then H(HTI1,HY11)=-1:
KARIN=KARIN+1:KARI(KARIN,0)=HTI1:KARI(KARIN,1)=HYI1

if H(HTI2,HY12)=0 then H(HTI2,HY2)=-1:
KARIN=KARIN+1:KARI(KARIN,0)=HTI2:KARI(KARIN,1)=HY 2

end if

return

*MODOSI

for 19=BIT to BIT+HHABA(RI,1)-1:for J9=BIY to BIY+HHABA(RI,2)-1: H(19,39)=0: next J9,19
for 19=1 to KARIN: H(KARI(19,0),KARI(19,1))=0: next 19
return

*SENAKIJYUNBI
' taisyo_retu
if NGSTY =1 then SRETU1=BIT:SRETU2=BIY:GRN=RN else SRETU1=BIY:SRETU2=BIT:GRN=GN
CRETUN=1: CRETU(1,1)=3-NGSTY:CRETU(1,2)=SRETU1-1
CRETUN=2: CRETU(2,1)=3-NGSTY:CRETU(2,2)=SRETU1+2
for L9=0 to NAGASA+1
if (1<=SRETU2+L9-1)and(SRETU2+L9-1<=GRN) then
CRETUN=CRETUN+1:CRETU(CRETUN,1)=NGSTY:CRETU(CRETUN,2)=SRETU2+L9-1
end if

next L9
return

*KAISUKEISAN
"--par. | --
gosub *KENSAKUJYUNBI
SUHEM=SUHE(I)
'case_A
KUMASUN=KTKU:gosub *TATEKENSAKU
if KANOSET=1 then
for 19=1 to KTKU
BIT=BM(I,1)+SETKR(1,19,1)-1:BIY=BM(I,2)+SETKR(1,19,2)-1:gosub * KUROMA SUHA SEI
next 19
BM(1,0)=1: return
end if
' case_B
NGASA=HHABA(I,1): if HHABA(I,2)>NGASA then NGASA=HHABA(I,2)
for U9=1 to MIMASU
for U2=1to 2
for 11=1 to HHABA(I,1):for 12=1 to HHABA(I,2): HSU(I1,12)=GHSU(11,12): next 12,1
if (U2=1)or((U2=2)and(((KETUTY=2)and(NGASA<=3))or(KETUTY=3))) then
if U2=1 then
HSU(MITY (U9,1),MITY(U9,2))=-1: KUMASUN=KTKU
else 'U2=2
HSU(MITY (U9,1),MITY (U9,2))=1 : KUMASUN=KTKU-1
for D4=1 to 4: HSU(MITY (U9,1)+ZT(D4),MITY (U9,2)+ZY (D4))=-1: next D4
end if
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gosub *TATEKENSAKU
" hantei
if KANOSET=0 then
BIT=BM(I,1)+MITY (U9,1)-1:BIY=BM(I,2)+MITY (U9,2)-1
if U2=1 then H(BIT,BIY)=1: gosub *MAWARISIRO else H(BIT,BIY)=-1
ZOKA=1: return
end if
end if
next U2
next U9
return

*KENSAKUJYUNBI
HY B=I:gosub *MASUTI
KTKU=BM(I,3)-KUMASU
"HSU,MITY_sakusei
HMMTY =1:gosub *HSUMITYMAKE
return

*HSUMITYMAKE
'-- par. HMMTY, I, HMBT ,HMBY ,HBT,HBY --
if HMMTY=1 then HMBT=BM(I,1):HMBY =BM(l,2):HBT=HHABA(I,1):HBY =HHABA(I,2)
MIMASU=0
for I1=1 to HBT:for 12=1 to HBY
GHSU(I11,12)=H(HMBT+I1-1,HMBY +I2-1)
if GHSU(I1,12)=0 then MIMASU=MIMASU+1:MITY(MIMASU,1)=I1:MITY (MIMASU,2)=12
next 12,11

for 11=1 to HBT:for 12=1 to HBY: HSU(11,12)=GHSU(11,12): next 12,1
return

*TATEKENSAKU
' -- par. KUMASUN,HBT,HBY ,SUHEM --
K=1: G(1)=1: KANOSET=0
while (K>0)and(KANOSET<5)
if K<=KUMASUN then
gosub *SONZAI
if FSZ=1 then gosub *FOWARD else gosub *BACK
else
' toji-MASU_check
gosub *TOJIMASUCH
if FTOJI=0 then KANOSET=KANOSET+1:gosub *KIROKU
gosub *BACK
end if
wend
return

*SONZAI
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FSzZ=0

for Q9=G(K) to MIMASU

if HSUMITY (Q9,1),MITY(Q9,2))=0 then FSZ=1:SZB=Q9: exit for
next Q9

return

*FOWARD

G(K)=SzZB

' syokyo

SYKN=0

for D4=1to 4
ZOT=MITY(SZB,1)+ZT(D4):ZOY=MITY (SZB,2)+ZY (D4)
if HSU(ZOT,ZOY)=0 then
SYKN=SYKN+1:SYK(K,SYKN,1)=ZOT:SYK(K,SYKN,2)=20Y
HSU(ZOT,ZOY)=-1

end if

next D4

SYK(K,0,0)=SYKN

K=K+1: G(K)=SZB+1
return

*BACK
K=K-1:G(K)=G(K)+1
' modosi
for M9=1 to SYK(K,0,0)
HSU(SYK(K,M9,1),SYK(K,M9,2))=0
next M9
return

*KIROKU
if KANOSET<=3 then
for K9=1 to KUMASUN
SETKR(KANOSET,K9,1)=MITY (G(K9),1):SETKR(KANOSET,K9,2)=MITY (G(K9),2)
next K9
end if
return

*TOJMASUCH
FTOJI=0
' case_A( sumi)
if (1<=SUHEM)and(SUHEM<=4)and(HBT>1)and(HBY >1)and(KUMASUN>1) then
HENTI=SUHEM+10:gosub *HENKADO
CT=WT:CY=WY: gosub *MAWARITOJI
if FTOJI=1 then return
end if
' case_B( hen)
if (1<=SUHEM)and(((HBT>1)and(HBY>2))or((HBT>2)and(HBY>1)))and(KUMASUN>2) then
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if SUHEM<=4 then

HENTI=SUHEM+10:gosub *HENKADO

DN=2: D(1)=fnD1(SUHEM):D(2)=fnD2(SUHEM)
else

HENTI=SUHEM:gosub *HENKADO

DN=1: D(1)=fnD1(SUHEM-10)
end if

for Q9=1 to DN
CT=WT:CY=WY: BD=D(Q9)
if (BD mod 2)=1 then HBTY=HBT else HBTY=HBY
for K1=1 to HBTY-2
CT=CT+ZT(BD):CY=CY+ZY(BD): gosub *MAWARITOJI
if FTOJI=1 then return
next K1
next Q9
end if
' case_C( general )
if (HBT>2)and(HBY >2)and(4<=KUMASUN)and(KUMASUN<=7) then
for CT=2 to HBT-1:for CY=2 to HBY-1
gosub *MAWARITOJI
if FTOJI=1 then return
next CY,CT
end if
return

*HENKADO
if HENTI=11 then WT=1:WY =1
if HENTI=12 then WT=1:WY=HBY
if HENTI=13 then WT=HBT:WY=HBY

if HENTI=14 then WT=HBT:WY=1
return

*MAWARITOJI

TOJISU=0

for D4=1to 4

MWT=CT+ZT(D4):MWY =CY +2Y (D4)

if (MWT=0)or(MWT=HBT+1)or(MWY=0)or(MWY=HBY +1) then
TOJSU=TOJISU+1

else

for W5=1 to KUMASUN
if (MWT=MITY(G(W5),1))and(MWY=MITY (G(W5),2)) then TOJISU=TOJISU+1: exit for
next W5

end if

next D4

' hantei

if TOJISU=4 then FTOJI=1

return
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*KUROSETUDAN
gosub *HENKUROMASU
JY GAISP=0: gosub *SETUDANSY ORI
' siro-Masu_set
for 1=1 to AKIMSN: H(AKIMS(1,0),AKIMS(I,1))=-1:ZOKA=1: next |
return

*SETUDANHIGHLEVEL
gosub *STDKARIOKI ' kari_oki
' setudan_syori
gosub *HENKUROMA SU
gosub *SETUDANSY ORI
' modosi
for 1I=1 to KARIN: H(KARI(I,0),KARI(I,1))=0: next |
' siro-Masu_set
for 1=1 to AKIMSN: H(AKIMS(1,0),AKIMS(I,1))=-1:ZOKA=1: next |
return

*HENKUROMASU
HKUMASUN=0
for HEN=1 to 4
if (HEN mod 2)=1 then
HM=1:LT=RN
if HEN=1 then ST=1 else ST=GN
else
HM=2:LT=GN-1
if HEN=2 then SY=RN else SY=1
end if
for I=HM to LT
if (HEN mod 2)=1 then SY=I else ST=I

if (H(ST,SY)=1)and(FB(ST,SY)=0) then
HKUMASUN=HKUMASUN+1
HKUMASU(HKUMASUN,0)=ST: HKUMASU(HKUMASUN,1)=SY
end if
next |
next HEN
return

*SETUDANSY ORI
' -- par. JYGAISP, HKUMASUN,HKUMASU( ) --
KRNBSU=0: AKIMSN=0
for I=1 to HKUMASUN
ST=HKUMASU(I,0):SY=HKUMASU(I,1): gosub *KURONARABI
if SESYN=0 then
FB(ST,SY)=1
else ' setudan_syori

39
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for 19=1 to SESYN
CHT=SYLT(19,0):CHY=SYLT(19,1)
if (CHT=1)or(CHT=GN)or(CHY=1)or(CHY =RN) then
' jyogai_check
FJY G=0
for 18=1 to JYGAISP
if (CHT=JYGSP(I8,0))and(CHY=JYGSP(18,1)) then FJY G=1: exit for
next 18
if FJY G=0 then AKIMSN=AKIMSN+1:AKIMS(AKIMSN,0)=CHT:AKIMS(AKIMSN,1)=CHY
end if
next 19
if AKIMSN>0 then return
" kiroku
KRNBSU=KRNBSU+1
KRNBLT(KRNBSU,0,0)=SESYN
for 17=1 to SESYN:for 18=0 to 1:KRNBLT(KRNBSU,17,18)=SYLT(17,18):next 18,17
end if
next |
' narabi_ketugoten
for 1=1 to KRNBSU-1:for J=1+1 to KRNBSU
for 19=1 to KRNBLT(I,0,0)
BIT=KRNBLT(I,19,0):BIY=KRNBLT(I,19,1)
for J9=1 to KRNBLT(J,0,0)
if (BIT=KRNBLT(J,39,0))and(BlY=KRNBLT(J,J9,1)) then
AKIMSN=1: AKIMS(1,0)=BIT:AKIMS(1,1)=BIY: return
end if
next J9
next 19
next J,l
return

*STDKARIOKI

KARIN=0

'case_A

gosub *STDTUIKA

for I=1 to SETUMSN
KARIN=KARIN+1:KARI(KARIN,0)=CH(l,1,1):KARI(KARIN,1)=CH(l,1,2)

next |

' case_B( STDSYORI=3_tuika)

if STDSY ORI=3 then

gosub *SETUZOKULIST

for I=1 to SZLTN
KARIN=KARIN+1:KARI(KARIN,0)=CH(l,1,1):KARI(KARIN,1)=CH(l,1,2)
next |

end if

' kari_oki

for I=1 to KARIN: H(KARI(I,0),KARI(I,1))=1: next |

return
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*STDTUIKA
'-- par. STDSYORI --
HSYKHN=0: JY GAISP=0
if STDSY ORI=2 then
for SI=1 to ALLHYN
FTSD2KH=0
if ALLHY(SI,4)>=11 then
BT=ALLHY(SI,0):BY=ALLHY(SI,1):HBT=ALLHY(SI,2):HBY=ALLHY(SI,3):REC=ALLHY (SI,6)
SUHE=ALLHY(SI,4):gosub *HENTYITI
GUKI=(SUHE mod 2): D1=fnD1(SUHE-9):D2=fnD1(SUHE-10)
'case_A
TY=1:NGS=HBT: if HBY>HBT then TY=2:NGS=HBY
if (REC=1)and((NGS=1)or(((GUKI=0)and(TY =2))or((GUKI=1)and(TY=1)))) then
NT=WT+ZT(D1):NY=WY+ZY(D1)
KT1=WT-ZT(D2):KY1=WY-ZY(D2): KT2=WT+ZT(D2):KY2=WY +ZY (D2)
if (H(NT,NY)=1)and(H(KT1,KY1)=0)and(H(KT2,KY2)=0) then FTSD2KH=1
end if
' case_B
if GUKI=1 then NGS=HBY else NGS=HBT
if NGS=3 then
MT=WT+ZT(D1):MY=WY+ZY(D1)
NT=MT+HT(D2):NY=MY+HY(D2): M2T=MT+2*ZT(D2):M2Y=MY +2*ZY(D2)
KT1=WT-ZT(D2):KY1=WY-ZY(D2): KT2=WT+3*ZT(D2):KY2=WY +3*ZY (D2)
if (H(NT,NY)=1)and(H(MT,MY)=1)and(H(M2T,M2Y)=1)and(H(KT1,KY1)=0)and(H(KT2,KY2)=0) then
FTSD2KH=1
end if
end if
if FTSD2KH=1 then gosub *HSYTUIKA
next Sl
else 'STDSYORI=3
for HEN=1 to 4
for JANPU=1 to 3 step 2
if (HEN mod 2)=0 then HLT=GN-(JANPU+1): GTY=1 else HLT=RN-(JANPU+1): GTY=2
for SI=1to HLT
if HEN=1 then KT1=1:KY1=SI : D1=2:D2=2: GI=1
if HEN=2 then KT1=SI:KY 1=RN: D1=3:D2=3: GI=RN
if HEN=3 then KT1=GN:KY1=SI: D1=2:D2=1: GI=GN
if HEN=4 then KT1=SI:KY1=1: D1=3:D2=2: GI=1
KT2=KT1+(JANPU+1)*ZT(D1):KY2=KY 1+(JANPU+1)*ZY(D1)
if (H(KT1,KY1)=0)and(H(KT2,KY2)=0) then
if JANPU=1 then
NT=KT1+HT(D2):NY=KY 1+HY(D2)
if HINT,NY)=1 then gosub *HSEY SIRABE
else
M1T=KT1+HT(D2):M1Y=KY1+HY(D2): M2T=M1T+2*ZT(D1):M2Y=M1Y +2*ZY(D1)
NT=M1T+HT(D2):NY=M1Y+HY (D2)
if (H(NT,NY)=1)and(H(M1T,M1Y)=1)and(H(M2T,M2Y)=1) then gosub *HSEY SIRABE
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end if
end if
next S|
next JANPU
next HEN
end if
' setuzoku_Masu
SETUMSN=0
for SI=1 to HSYKHN
CT=JYGSP(2*SI-1,0):CY=JYGSP(2*SI-1,1):DT=JY GSP(2* SI,0):DY =JY GSP(2* Sl ,1)
FDBL=0
for SJ=1 to SETUMSN
if ((CT=CH(SJ,1,1))and(CY=CH(SJ,1,2)))or((DT=CH(SJ,1,1))and(DY=CH(SJ,1,2))) then FDBL=1
next SJ
if FDBL=0 then
SETUMSN=SETUMSN+1
FDBL=0
for SJ=1 to 2*S|-2
if (CT=JYGSP(SJ,0))and(CY =JY GSP(SJ,1)) then FDBL=1: exit for
next SJ
if FDBL=0 then CH(SETUMSN,1,1)=CT:CH(SETUMSN,1,2)=CY else
CH(SETUMSN,1,1)=DT:CH(SETUMSN,1,2)=DY
end if
next Si
return

*HSEY SIRABE
" kari_oki
H(KT1,KY1)=-1:H(KT2,KY2)=-1
TY=GTY:1=Gl:gosub *NARABISIRABE
if FBAD=0 then
TST=KT1:TSY=KY l:gosub *GAITOHEYA

if FGAITO=1 then BI=GHEYA:KBADTY =0:gosub *KUMASUBAD
endif

H(KT1,KY1)=0:H(KT2,KY2)=0 ' modosi

if (FBAD=1)or((FGAITO=1)and(FKMSBAD=1)) then gosub *HSY TUIKA
return

*HSYTUIKA
HSYKHN=HSYKHN+1: HSYKH(HSYKHN,0)=NT:HSYKH(HSY KHN,1)=NY
JY GAISP=JY GAISP+1: JY GSP(JY GAISP,0)=KT1:JY GSP(JY GAISP,1)=KY1

JY GAISP=JY GAISP+1: JY GSP(JY GAISP,0)=KT2:JY GSP(JY GAISP,1)=KY 2
return

*SETUZOKULIST
SZLTN=0
for 1=1 to ALLHYN
BIT=ALLHY (1,0):BIY=ALLHY(l,1): HBT=ALLHY(I,2):HBY=ALLHY (1,3)
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' case-Al
if HBT=1 then
if H(BIT,BIY-1)=1 then STN=0:N(0)=1 else STN=1
for P8=1 to HBY: N(P8)=H(BIT,BIY +P8-1): next P8
if HBIT,BIY+HBY)=1 then LTN=HBY +1:N(LTN)=1 else LTN=HBY
"list_up
TY=1:gosub *SKLISTUP1
end if
' case_A2
if HBY=1 then
if H(BIT-1,BIY)=1 then STN=0:N(0)=1 else STN=1
for P8=1 to HBT: N(P8)=H(BIT+P8-1,BIY): next P8
if HBIT+HBT,BIY)=1 then LTN=HBT+1:N(LTN)=1 else LTN=HBT
"list_up
TY=2:gosub *SKLISTUP1
end if
next |
' setuzoku-Masu_kakutei
for 1=1 to SZLTN: N(I)=I: next |
R=1
while R<=SZLTN-1
NT=CH(N(R),1,1):NY=CH(N(R),1,2)
FTOJI=0
for D4=1to 4
CT=NT+HT(D4):CY=NY+HY (D4)
for Q9=R+1 to SZLTN
MQ=N(Q9)
if (CT=CH(MQ,1,1))and(CY=CH(MQ,1,2)) then FTOJI=1:goto * TICHEND
next Q9
next D4
*TJCHEND

if FTOJI=1 then swap N(R+1),N(MQ): swap CH(MQ,1,1),CH(MQ,2,1):swap CH(MQ,1,2),CH(MQ,2,2)

R=R+1

wend

'-- case B --

for I=1 to BMN

' case_Bl1

if (BM(1,0)=0)and(RECTY (1)=4)and(BM(l,3)=4) then
CENT=BM(I,1)+1:CENY=BM(l,2)+1

HYB=Il:gosub *MASUTI

if (MIMASU=2)and(H(CENT,CENY)=0) then
forD=1to4
if H(CENT+HT(D),CENY +HY (D))=0 then gosub * SKLISTUP2
next D

end if

end if

' case_B2

43
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if (BM(1,0)=0)and(RECTY (1)=2)and(BM(I,3)=1)and(SUHE(1)=0) then
BT=BM(I,1):BY=BM(I,2)
D=0

if (H(BT,BY)=0)and(H(BT+1,BY+1)=0) then CENT=BT:CENY=BY : D=2
if (H(BT+1,BY)=0)and(H(BT,BY+1)=0) then CENT=BT+1:CENY=BY: D=1
if D>0 then gosub *SKLISTUP2

end if

next |

return

*SKLISTUP1

for H5=STN to LTN-2

if TY=1then TITI=BIT:YITI=BIY+H5-1 else TITI=BIT+H5-1:YITI=BIY

if (N(H5)=1)and(N(H5+2)=1)and(H(TITI+1,YITI+1)=0) then
SZLTN=SZLTN+1
SZLT(SZLTN,0)=TITI:SZLT(SZLTN,1)=YITI
SZLT(SZLTN,2)=TITI+2*(TY-1):SZLT(SZLTN,3)=YITI+2*(2-TY)
' setuzoku-Masu_koho
if TY=1then D1=1:D2=2 else D1=2:D2=3
CH(SZLTN,1,1)=TITI+HT(D1):CH(SZLTN,1,2)=YITI+HY (D1)
CH(SZLTN,2,1)=TITI+HT(D2):CH(SZLTN,2,2)=YITI+HY (D2)

end if

next H5

return

*SKLISTUP2
KHIT=CENT+HT(fnD1(D)):KH1Y=CENY +HY (fnD1(D))
KH2T=CENT-HT(fnD1(D)):KH2Y=CENY-HY (fnD1(D))
if (H(KH1T,KH1Y)=1)and(H(KH2T,KH2Y)=1)and(H(KH1T+HT(D),KH1Y+HY (D))=1)and
(H(KH2T+HT(D),KH2Y +HY (D))=1) then
SZLTN=SZLTN+1
SZLT(SZLTN,0)=KHIT:SZLT(SZLTN,1)=KH1Y
SZLT(SZLTN,2)=KH2T:SZLT(SZLTN,3)=KH2Y
' setuzoku_Masu
CH(SZLTN,1,1)=CENT:CH(SZLTN,1,2)=CENY
end if
return

*KURONARABI
' -- par. ST,SY --
KRNB=1: KNB(1,0)=ST:KNB(1,1)=SY
SESYN=0: R=1
while (R<=KRNB)and(KRNB<=MXLN(LEVEL))
KNT=KNB(R,0):KNY=KNB(R,1)
for D4=1to 4
NWT=KNT+HT(D4):NWY=KNY+HY (D4)
' kuro_Masu
if HINWT,NWY)=1 then
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' doble_check
FDB=0
for DC=1 to KRNB
if (NWT=KNB(DC,0))and(NWY=KNB(DC,1)) then FDB=1:exit for
next DC
" kiroku
if FDB=0 then KRNB=KRNB+1: KNB(KRNB,0)=NWT:KNB(KRNB,1)=NWY
end if
" aki_Masu
if HINWT,NWY)=0 then
' doble_check
FDB=0
for DC=1 to SESYN
if (NWT=SYLT(DC,0))and(NWY=SYLT(DC,1)) then FDB=1:exit for
next DC
" kiroku
if FDB=0 then SESYN=SESYN+1:SYLT(SESYN,0)=NWT:SYLT(SESYN,1)=NWY
end if
next D4
R=R+1
wend
return

*REC44SENTAKU
for R41=1 to BMN
if (BM(R41,0)=0)and(RECTY (R4l)=4)and(BM(R41,3)=4) then
"akiMasu_su
HY B=R4l:gosub *MASUTI
if MIMASU>=3 then
CENT=BM(R4l,1)+1:CENY=BM(R41,2)+1
for D=1to4
BIT=CENT+HT(D):BIY=CENY+HY (D)
if H(BIT,BIY)=0 then
gosub *R44SENJY UNBI
" kari_oki
for 13=1 to KARIN
if 13<=KARIP then H(KARI(13,0),KARI(13,1))=1 else H(KARI(13,0),KARI(I13,1))=-1
next 13
" hantei( local_check )
ST=CENT:SY=CENY :gosub *LOCBUNDANCH
if FBAD=0 then gosub *LOCAKIRENCH
if FBAD=0 then gosub *LOCKUMASUCH
' modosi
for 13=1 to KARIN: H(KARI(13,0),KARI(13,1))=0 : next I3
' bad_syori
if FBAD=1 then gosub *KUROMASUHASEI: return
end if



46 e e

next D
else 'MIMASU=2
' heya_syukusyo
BT=BM(R4l1,1):BY=BM(R4l,2):HBT=HHABA(R41,1):HBY=HHABA(R4l,2)
gosub *SYUKUSYO
if (SHBT<HBT)or(SHBY<HBY) then
BM(R41,1)=SBT:BM(R41,2)=SBY:BM(R41,3)=1: HHABA(R4l,1)=SHBT:HHABA(R4l,2)=SHBY
' REC,SUHE_keisan
1=R41: gosub *RECTY PE2: gosub * SUMIHEN2
ZOKA=1: return
end if
end if
end if
next R4l
return

*R44SENJY UNBI
' kuro_masu
KARIP=0
if H(CENT,CENY)=0 then KARIP=KARIP+1: KARI(KARIP,0)=CENT:KARI(KARIP,1)=CENY
for D4=1to 4
NT=CENT+HT(D4):NY=CENY+HY (D4)
if (D4<>D)and(H(NT,NY)=0) then KARIP=KARIP+1:KARI(KARIP,0)=NT:KARI(KARIP,1)=NY
next D4
''siro_masu
KARIN=KARIP
MT=CENT-HT(D):MY=CENY-HY (D)
for 13=1to 3
if 13=1 then NT=MT+ZT(fnD3(D)):NY=MY+ZY (fnD3(D)) else NT=NT+ZT(D):NY=NY+ZY (D)
if 13=1 then OT=MT+ZT(fnD2(D)):0Y=MY +ZY (fnD2(D)) else
OT=0T+ZT(fnD1(D)):0Y=0Y+ZY (fnD1(D))
if HINT,NY)=0 then KARIN=KARIN+1: KARI(KARIN,0)=NT:KARI(KARIN,1)=NY
if H(OT,0Y)=0 then KARIN=KARIN+1: KARI(KARIN,0)=OT:KARI(KARIN,1)=0Y
next 13
' CRETU_sakusei
CRETUN=2
CRETU(1,1)=1:CRETU(1,2)=BM(R41,2)+R4Y (D): CRETU(2,1)=2:CRETU(1,2)=BM(R41,1)+R4T(D)
return

*NOKORIPL1
for SI=1 to BMN
if (BM(SI,0)=0)and(BM(SI,3)>=2)and(RECTY (SI)<>4) then
HYB=SI:gosub *MASUTI
if MIMASU=(BM(SI,3)-KUMASU)+1 then
for MI=1 to MIMASU
" kari_oki
for 19=1 to MIMASU
if 19=MI then HMIM(19,1),MIM(19,2))=-1 else H(MIM(19,1),MIM(19,2))=1
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next 19

" bundan_check

for V7=1 to MIMASU

if V7<>MI then
ST=MIM(V7,1):SY=MIM(V7,2):gosub *LOCBUNDANCH
if FBAD=1 then exit for

end if

next V7

' modosi

for 19=1 to MIMASU: H(MIM(19,1),MIM(19,2))=0: next 19

if FBAD=1 then BIT=MIM(MI,1):BlY=MIM(MI,2):gosub *KUROMASUHASEI: return
next Ml

end if
end if
next Sl
return

*NANAMETOBIDASI
for T=1 to GN:for Y=1 to RN
if (H(T,Y)=-1)and(FB(T,Y)=0) then
gosub *MAWARISIRABE
if SSU>=1 then FB(T,Y)=1
if (KSU=2)and(MSU=2) then
' haname_check
gosub *NANAMECH
TAIT=T+HT(TAID):TAIY=Y+HY(TAID)
if (NNM=1)and(H(TAIT,TAIY)=0) then
' tobidasi
for TB2=1to 2
BIT=MITI(TB2,1):BIY=MITI(TB2,2)
gosub *TOBIDAJY UNBI
" kari_oki
for 13=1 to KARIN: H(KARI(13,0),KARI(I13,1))=-1: next 13
" hentei(local_check)
gosub *LOCAKIRENCH

if FBAD=0 then gosub *LOCKUMASUCH
' modosi

for 13=1 to KARIN: H(KARI(13,0),KARI(13,1))=0 : next I3
' bad_syori

if FBAD=1 then H(BIT,BlY)=-1: ZOKA=1: return
next TB2
else
FB(T,Y)=1
end if
end if
end if
nextY,T
return
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*MAWARISIRABE
KSU=0:SSU=0:MSU=0
for MD4=1t04
MT=T+ZT(MD4):MY=Y+ZY (MD4)
if (HMMT,MY)=1)or(H(MT,MY)=-10) then KSU=KSU+1:KD(KSU)=MD4
if HIMT,MY)=-1 then SSU=SSU+1
if HIMT,MY)=0 then MSU=MSU+1: MITI(MSU,1)=MT:MITI(MSU,2)=MY
next MD4
return

*NANAMECH
if KD(1)>KD(2) then MXD=KD(1):MND=KD(2) else MXD=KD(2):MND=KD(1)

NNM=0: TAID=0
if MXD-MND=1 then NNM=1:TAID=fnD1(MXD)

if MXD-MND=3 then NNM=1:TAID=2
return

*TOBIDAJYUNBI
' taisyo_retu
if MXD-MND=1 then TY=TB2 else TY=3-TB2
if TY=1 then I=TAIY else I=TAIT
CRETUN=1: CRETU(1,1)=TY:CRETU(1,2)=I
' kari_iti
KARIN=2
KARI(1,0)=MITI(3-TB2,1):KARI(1,1)=MITI(3-TB2,2): KARI(2,0)=TAIT:KARI(2,1)=TAIlY
return

*HENSESY OKU
for KN=1 to KRNBSU
for HS9=1 to KRNBLT(KN,0,0)
BIT=KRNBLT(KN,HS9,0):BIY=KRNBLT(KN,HS9,1)
if (BIT=2)or(BIT=GN-1)or(BlY=2)or(BlY=RN-1) then
gosub * SESY OJY UNBI
" kari_oki
for 13=1 to KARIN: H(KARI(13,0),KARI(13,1))=-1: next 13
" hantei(local _check)
gosub *LOCAKIRENCH
if FBAD=0 then gosub *LOCKUMASUCH
' modosi
for 13=1 to KARIN: H(KARI(13,0),KARI(13,1))=0 : next 13
' bad_syori
if FBAD=1 then H(BIT,BIY)=-1: ZOKA=1: return
end if
next HS9
next KN
return
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*SESYOJYUNBI
CRETUN=0
if (BIT=2)or(BIT=GN-1) then
CRETUN=CRETUN+1: CRETU(CRETUN,1)=2
if BIT=2 then CRETU(CRETUN,2)=1:D(CRETUN)=4 else CRETU(CRETUN,2)=GN:D(CRETUN)=2

CRETUN=CRETUN+1: CRETU(CRETUN,1)=1:CRETU(CRETUN,2)=BlY+1: D(CRETUN)=0
CRETUN=CRETUN+1: CRETU(CRETUN,1)=1:CRETU(CRETUN,2)=BIY-1: D(CRETUN)=0

end if

if (BIY=2)or(BIY=RN-1) then

CRETUN=CRETUN+1: CRETU(CRETUN,1)=1

if BI'Y=2 then CRETU(CRETUN,2)=1:D(CRETUN)=3 else CRETU(CRETUN,2)=RN:D(CRETUN)=1

CRETUN=CRETUN+1: CRETU(CRETUN,1)=2:CRETU(CRETUN,2)=BIT+1: D(CRETUN)=0
CRETUN=CRETUN+1: CRETU(CRETUN,1)=2:CRETU(CRETUN,2)=BIT-1: D(CRETUN)=0
end if
" kari_oki
KARIN=0
for D4=1to 4
NT=BIT+ZT(D4):NY=BIY+ZY (D4)
if HINT,NY)=0 then KARIN=KARIN+1: KARI(KARIN,0)=NT:KARI(KARIN,1)=NY
next D4
for S9=1 to CRETUN
if D(S9)>0 then
BD=D(S9)
NT=BIT+HT(BD):NY=BIY+HY (BD): MT=BIT+HT(fnD1(BD)):MY=BIY+HY (fnD1(BD))
if HINT,NY)=0 then KARIN=KARIN+1: KARI(KARIN,0)=NT:KARI(KARIN,1)=NY
if HIMT,MY)=0 then KARIN=KARIN+1: KARI(KARIN,0)=MT:KARI(KARIN,1)=MY
end if

next S9
return

*KUMASU1IGR

for 1=1 to BMN

if (BM(1,0)=0)and(((KMSTY=1)and(GBM(I,3)=1))or(KMSTY=2)) then
" hikae_toru & oki_kae

for HJ=0 to 3: HBM(l,HJ)=BM(I,HJ) : next HJ

for HJ=1 to 2: KHABA(l,HJ)=HHABA(I,HJ): next HJ

for HJ=0 to 3: BM(I,HJ)=GBM(I,HJ) : next HJ

for HJ=1 to 2: HHABA(I,HJ)=GHABA(I,HJ): next HJ
if KMSTY=1 then KTKU=1 else HYB=I:gosub *MASUTI:KTKU=BM(l,3)-KUMASU
for TY=1to2
HB=HHABA(I,TY): HBR=HHABA(I,3-TY)
BI=BM(I,TY): BIR=BM(I,3-TY)
if HB>KTKU then
for 12=0 to HB-1: N(12)=1: next |2
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HITUYO=0
for 12=0 to HB-1
GT=BI+I2
" hituyo_kuroMasu
gosub *HAKI
if TY=1 then HT1=GT:HY 1=BIR-1:HT2=GT:HY 2=BIR+HBR else
HT1=BIR-1:HY1=GT:HT2=BIR+HBR:HY 2=GT
if (HIK=1)and(H(HT1,HY1)=-1)and(H(HT2,HY 2)=-1) then HITUYO=HITUY O+1:N(12)=0
next 12
' nokori_siroMasu
if HITUYO=KTKU then
for DG=0 to HB-1
if N(DG)=1 then
BBT=BI+DG
for 15=0 to HBR-1
if TY=1 then HAT=BBT:HAY=BIR+I5 else HAT=BIR+I5:HAY=BBT
if HHAT,HAY)=0 then H(HAT,HAY)=-1:ZOKA=1
next I5
end if
next DG
if ZOKA=1 then exit for
end if
end if
next TY
' modosi
for HJ=0 to 3: BM(I,HJ)=HBM(I,HJ) : next HJ
for HJ=1 to 2: HHABA(I,HJ)=KHABA(I,HJ): next HJ
if ZOKA=1 then return
end if
next |
return

*HAKI

FAK=0:NKU=1

for H9=0 to HBR-1
if TY=1 then HAT=GT:HAY=BIR+H9 else HAT=BIR+H9:HAY=GT
if HHAT,HAY)=0 then FAK=1
if H(HAT,HAY)=1 then NKU=0

next H9

if (FAK=1)and(NKU=1) then HIK=1 else HIK=0

return

*KYOTUSIRO
'case_1
for I=1 to BMN
if BM(1,0)=0 then gosub * SIROSY ORI
next |
' case_2
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if LEVEL=3 then
for SUHE=1 to 4
gosub *KADOITI
TST=WT:TSY=WY :gosub *GAITOHEYA2
GH=GHEYA
if ALLHY(GH,6)=1 then
TY=1:NGS=ALLHY(GH,2): if ALLHY(GH,3)>ALLHY (GH,2) then TY=2:NGS=ALLHY (GH,3)
if TY=1 then
if (SUHE=1)or(SUHE=4) then ZD=2 else ZD=4
if (SUHE=1)or(SUHE=2) then RD=3 else RD=1
else
if (SUHE=1)or(SUHE=2) then ZD=3 else ZD=1
if (SUHE=1)or(SUHE=4) then RD=2 else RD=4
end if
TST=WT+ZT(ZD):TSY=WY+ZY(ZD):gosub *GAITOHEYA1
REC=RECTY (GHEYA):KSU=BM(GHEYA,3)
JTY=1:JNGS=HHABA(GHEYA,1)
if HHABA(GHEYA,2)>HHABA(GHEYA,1) then JTY=2:INGS=HHABA(GHEYA,2)
if (REC=2)or(REC=3)or(REC=5))and(KSU=JNGS) then
if (REC=2)or((REC>2)and(TY=JTY)))and(NGS>=INGS) then
NT=WT+(INGS-1)*ZT(RD):NY=WY +(INGS-1)*ZY (RD)
if HINT,NY)=0 then H(NT,NY)=-1: ZOKA=1
end if
end if
end if
next SUHE
end if
return

*SIROSY ORI
"--par. | --
ST=BM(l,1):SY=BM(I,2):HBT=HHABA(I,1):HBY=HHABA(I,2): KSU=BM(l,3)
' case_A(recty=2,3,5)
if (KSU>=2)and(((HBT=2)and(HBY=KSU))or((HBT=KSU)and(HBY =2))) then
for Q9=1 to KSU-2
if HBT=2 then NT=ST-1:NY=SY+Q9:MT=ST+2:MY=NY else NT=ST+Q9:NY=SY-1:MT=NT:MY =SY +2
if H(NT,NY)=0 then H(NT,NY)=-1: ZOKA=1
if H(MT,MY)=0 then H(MT,MY)=-1: ZOKA=1
next Q9
"tuika
if SUHE(1)>=11 then
SUHE=SUHE(l):gosub *HENSIROITI
if HHTI1,HY11)=0 then H(HTI1,HYI1)=-1:ZOKA=1
if HHTI2,HY12)=0 then H(HTI2,HY12)=-1:ZOKA=1
end if
end if
' case_B(recty=1)
if (LEVEL=3)and(KSU=1)and(RECTY (l)=1)and(1<=SUHE(l))and(SUHE(l)<=4) then
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TY=1:NGS=HBT: if HBY>HBT then TY=2:NGS=HBY
if (NGS=2)and(TY=(SUHE(l) mod 2)+1) then
SUHE=SUHE(l):gosub *KADOITI
ZD=fnD2(SUHE(]))
NT=WT+ZT(ZD): NY=WY+ZY (ZD)
if H(NT,NY)=0 then H(NT,NY)=-1: ZOKA=1
end if
end if
return

*HENSIROITI
' -- par. SUHE,ST,SY ,HBT,HBY --
if SUHE=11 then HTI1=ST:HY11=SY-1: HTI2=ST:HY12=SY+HBY
if SUHE=12 then HTI1=ST-1:HYI1=SY+HBY-1: HTI2=ST+HBT:HY12=SY+HBY-1
if SUHE=13 then HTI11=ST+HBT-1:HY11=SY-1: HTI2=ST+HBT-1:HY12=SY+HBY
if SUHE=14 then HTI1=ST-1:HYI1=SY: HTI2=ST+HBT:HY12=8SY
return

*LARGEHEYAKETU

for 1=1 to BMN

if BM(1,0)=0 then
HBT=HHABA(I,1):HBY=HHABAC(l,2)
if (RECTY(I)=4)and(BM(I,3)=3))or((((HBT=3)and(HBY =4))or((HBT=4)and(HBY =3)))and(BM(l,3)>=4))
then
gosub *KAISUKEISAN
if ZOKA=1 then return

end if

end if

next |

return

*KUMASUIMAWARISIRO

for 1=1 to BMN

if (BM(1,0)=0)and(GBM(l,3)=1) then
SUHE=SUHE()
if (SUHE=0)or(SUHE>=11) then
if SUHE=0 then DN=4:D(1)=1:D(2)=2:D(3)=3:D(4)=4
if (SUHE=11)or(SUHE=13) then DN=2:D(1)=2:D(2)=4
if (SUHE=12)or(SUHE=14) then DN=2:D(1)=1:D(2)=3

BT=GBM(I,1):BY=GBM(l,2):HBT=GHABA(I,1):HBY=GHABA(I,2)
for D9=1 to DN
D=D(D9): GUKI=(D mod 2)
if GUKI=0 then NGS=HBT:ZD=3 else NGS=HBY:ZD=2
for L9=1 to NGS-1
if D=1 then MT1=BT:MY 1=BY +(L9-1)
if D=2 then MT1=BT+(L9-1):MY1=BY+HBY-1
if D=3 then MT1=BT+HBT-1:MY 1=BY +(L9-1)
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if D=4 then MT1=BT+(L9-1):MY1=BY

CT1=MT1+ZT(D):CY1=MY 1+ZY(D): CT2=CT1+ZT(ZD):CY2=CY1+ZY (ZD)
'--case_A --

if (H(CT1,CY1)=-1)and(H(CT2,CY2)=-1) then
' siro-set_TYPE
SIROTY=1

TST=CT1:TSY=CY l:gosub *GAITOHEYAZ2: GHY=GHEYA
TST=CT2:TSY=CY2:gosub *GAITOHEYA2

if GHY=GHEYA then

if GUKI=0 then HABA=ALLHY (GHY,3) else HABA=ALLHY(GHY,2)
NT=CT1:NY=CY1: gosub * SIROCHECK: FGD1=FGOOD
NT=CT2:NY=CY2: gosub * SIROCHECK

if (FGD1=1)and(FGOOD=1) then SIROTY =2
end if

'siro_set
gosub *SIROUME
if ZOKA=1 then return

end if

-- case B --

if (H(CT1,CY1)=0)and(H(CT2,CY2)=0) then
TST=CT1:TSY=CY1:gosub * GAITOHEYA2

if GUKI=0 then HABA1=ALLHY(GHEYA,3) else HABA1=ALLHY(GHEYA,2)
TST=CT2:TSY=CY 2:gosub *GAITOHEYA2

if GUKI=0 then HABA2=ALLHY (GHEYA,3) else HABA2=ALLHY (GHEYA 2)
if (HABA1=1)and(HABA2=1) then

CT3=CT1+ZT(D):CY3=CY1+ZY(D): CT4=CT2+ZT(D):CY4=CY2+ZY (D)

f (H(CT3,CY3)=-1)and(H(CT4,CY4)=-1) then
SIROTY =2:gosub * SIROUME
if ZOKA=1 then return

end if
end if
end if
next L9
next D9

end i
end if
next |
return

*SIRO

f

CHECK

FGOOD=1

for Q9=1 to HABA
NT=NT+ZT(D):NY=NY+ZY (D)

if ((Q9<>HABA)and(H(NT,NY)<>-1))or((Q9=HABA)and(H(NT,NY)<>0)) then FGOOD=0
next Q9

return

*SIROUME
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MT2=MT1+ZT(ZD):MY2=MY 1+ZY (ZD)
for 19=BT to BT+HBT-1:for J9=BY to BY+HBY-1
FSIRO=1
if SIROTY =2 then
if (19=MT1)and(J9=MY 1))or((19=MT2)and(J9=MY 2)) then FSIRO=0
else 'SIROTY=1
if (GUKI=0)and((19=MT1)or(19=MT2)) then FSIRO=0
if (GUKI=1)and((J9=MY 1)or(J9=MY 2)) then FSIRO=0
end if
if (FSIRO=1)and(H(19,J9)=0) then H(19,J9)=-1:ZOKA=1
next J9,19
return

*NEWREC235HASEI
' -- case_A --
for RK=1 to BMN
if (BM(RK,0)=0)and(RECTY (RK)=1) then
BT=BM(RK,1):BY=BM(RK,2):HBT=HHABA(RK,1):HBY=HHABA(RK,2):KMSU=BM(RK,3)
if HBT=1 then TY=2:NGS=HBY else TY=1:NGS=HBT
if ((NGS mod 2)=0)and(KMSU=NGS/2) then
if TY=1 then D2=2 else D2=3
NT=BT+ZT(D2):NY=BY+ZY(D2)
TST=NT:TSY=NY:gosub *GAITOHEYA
if (FGAITO=1)and(RECTY (GHEYA)=1) then
HBT2=HHABA(GHEYA,1):HBY2=HHABA(GHEYA,2)
if HBT2=1 then TY2=2:NGS2=HBY2 else TY2=1:NGS2=HBT2
if (NT=BM(GHEYA,1))and(NY=BM(GHEYA,2))and(TY=TY 2)and(NGS=NGS2)and
(KMSU=BM(GHEY A,3)) then
' ketugo-heya(kari_sakusei)
SKT=BT:SKY=BY:gosub *KETUGOSY ORI
if ZOKA=1 then return
end if
end if
end if
end if
next RK
' -- case_B(ketugo-type) --
for T=1 to GN:for Y=1 to RN: CFB(T,Y)=0: next Y,T
NRHN=0
" list_sakusei1(kuMasu-heya)
for RK=1 to BMN
if (BM(RK,0)=0)and(RECTY (RK)>0)and(RECTY (RK)<>4) then
BT=BM(RK,1):BY=BM(RK,2):HBT=HHABA(RK,1):HBY=HHABA(RK,2):KMSU=BM (RK,3):
REC=RECTY (RK)
TY=1:NGS=HBT: if HBY>NGS then TY=2:NGS=HBY
if ((REC=1)and(NGS=2)and(KMSU=1))or((REC>=2)and(KMSU=NGS)) then
"list
NRHN=NRHN+1: NRH(NRHN,1)=BT:NRH(NRHN,2)=BY
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if REC=1 then NRH(NRHN,3)=1:NRH(NRHN,4)=3-TY else NRH(NRHN,3)=NGS:NRH(NRHN,4)=TY
if REC=2 then NRHN=NRHN+1:
NRH(NRHN,1)=BT:NRH(NRHN,2)=BY:NRH(NRHN,3)=2:NRH(NRHN,4)=2
' CFB_set
if REC<>2 then
for 19=0 to NRH(NRHN,3)-1
if NRH(NRHN,4)=1 then NT=BT+I9:NY=BY else NT=BT:NY=BY +I9
CFB(NT,NY)=NRH(NRHN,4)
next 19
else
CFB(BT,BY)=3:CFB(BT+1,BY)=1:CFB(BT,BY +1)=2
end if
end if
end if
next RK
" list_sakusei2(mitei-heya)
for TY=1to2
if TY=1 then BD=3:ST=2:LT=GN-2:SY=1:LY=RN else BD=2:ST=1:LT=GN:SY=2:LY=RN-2
for T=ST to LT:for Y=SY toLY
if (CFB(T,Y)=0)or(CFB(T,Y)=TY) then
T1=T:Y1=Y: T2=T+ZT(BD):Y2=Y+ZY(BD): T3=T-ZT(BD):Y3=Y-ZY (BD):
T4=T+2*ZT(BD):Y4=Y +2*ZY (BD)
if (H(T1,Y1)=0)and(H(T2,Y2)=0)and(H(T3,Y3)=-1)and(H(T4,Y4)=-1) then
H(T1,Y1)=-1:H(T2,Y2)=-1 ' kari_oki
if TY=1 then I=Y else I=T
gosub *NARABISIRABE
H(T1,Y1)=0 :H(T2,Y2)=0 ' modosi
if FBAD=1 then
NRHN=NRHN+1: NRH(NRHN,1)=T:NRH(NRHN,2)=Y:NRH(NRHN,3)=1:NRH(NRHN,4)=3-TY
end if
end if
end if
nextY,T
next TY
'ketugo_syori
for T=1 to GN:for Y=1 to RN: CFB(T,Y)=0: next Y,T
for Q=1 to NRHN
SKT=NRH(Q,1):SKY=NRH(Q,2):TY=NRH(Q,4): if TY=1 then BD=3 else BD=2
if CFB(SKT,SKY)=0 then
KETUGOSU=1: NGS=NRH(Q,3)
NT=SKT:NY=SKY:JYANPU=NGS: FEND=0
while FEND=0
NT=NT+JYANPU*ZT(BD):NY=NY+JYANPU*ZY (BD)
' ketugo_ari?
FKETU=0
for Q9=1 to NRHN
if (NT=NRH(Q9,1))and(NY=NRH(Q9,2))and(NRH(Q9,4)=TY) then FKETU=1: exit for
next Q9
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if FKETU=1 then
KETUGOSU=KETUGOSU+1:NGS=NGS+NRH(Q9,3):JY ANPU=NRH(Q9,3)
CFB(NT,NY)=1
else
FEND=1
end if
wend
' newR235heya_hasei?
if KETUGOSU>=2 then
gosub *KETUGOSY ORI
if ZOKA=1 then return
end if
end if
next Q
return

*KETUGOSY ORI
'-- par. SKT,SKY --
KHYN=150
BM(KHYN,1)=SKT:BM(KHYN,2)=SKY:BM(KHYN,3)=NGS
if TY=1 then HHABA(KHYN,1)=NGS:HHABA(KHYN,2)=2 else
HHABA(KHYN,1)=2:HHABA(KHYN,2)=NGS
I=KHY N:gosub *RECTY PE2: gosub *SUMIHEN2
' sentaku_syori(mujyun_syori)
RI=KHY N: gosub *SENTAKUSY ORI
if ZOKA=1 then return
' kyotu_siro
I=KHY N:gosub * SIROSY ORI
return

*BADCHECK
FMU=0
' -- checkl... kuroMasu_su --
for Bl=1 to BMN
if BM(BI,0)=0 then
KBADTY=0: gosub *KUMASUBAD
if FKMSBAD=1 then FMU=1: return
end if
next Bl
' -- check2... kuroMasu_TY setuzoku --
for CT=1 to GN:for CY=1 to RN
if (H(CT,CY)=1)and((H(CT,CY+1)=1)or(H(CT+1,CY)=1)) then FMU=1:return
next CY,CT
' -- check3... kuroMasu_setudan --
if STDSY ORI=3 then gosub * STDKARIOKI ' kari_oki

for T=1 to GN:for Y=1 to RN: CFB(T,Y)=0: next Y,T
for T=1 to GN:for Y=1to RN
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if (H(T,Y)=1)and(CFB(T,Y)=0) then
ST=T:SY=Y:gosub *LOCBUNDANCH
if FBAD=1 then FMU=1: goto * STDLOOPOUT
' CFB_setl
for L9=1 to KRNB: CFB(KNB(L9,0),KNB(L9,1))=1: next L9
end if
nextyY,T
*STDLOOPOUT
" modosi
if STDSY ORI=3 then

for 1I=1 to KARIN: H(KARI(I,0),KARI(I,1))=0: next |
end if

if FMU=1 then return

' -- check4... akiMasu-retu_3renzoku --
for TY=1to 2

if TY=1 then LT=RN else LT=GN
forl=1toLT

gosub *NARABISIRABE

if FBAD=1 then FMU=1: return

next |
next TY
return

*KUMASUBAD
' -- par. BI,KBADTY --
FKMSBAD=0
HYB=BI:gosub *MASUTI
if (KUMASU>BM(BI,3))or((KUMASU+MIMASU)<BM(BI,3)) then FKMSBAD=1: return
' main_hantei
if (HHABA(BI,1)<=3)or(HHABA(BI,2)<=3) then
BT=BM(BI,1):BY=BM(BI,2): HBT=HHABA(BI,1):HBY=HHABA(BI,2)
if KBADTY=1 then
' syukusyo_check
gosub *SYUKUSY O
" kari_heya
BMN=BMN+1:BM(BMN,1)=SBT:BM(BMN,2)=SBY:HHABA(BMN,1)=SHBT:HHABA(BMN,2)=SHBY
MOTOKMS=KUMASU: HYB=BMN:gosub *MASUTI
BM(BMN,3)=BM(BI,3)-(MOTOKMS-KUMASU)
" |_set, SUHE,REC_keisan
I=BMN
gosub *SUMIHENZ2: gosub *RECTY PE2
else 'KBADTY=0
I=Bl: REC=RECTY (BI):SUHE=SUHE(BI)
end if
" hantei

NGASA=HHABA(I,1): if HHABA(I,2)>NGASA then NGASA=HHABA(I,2)

if ((REC>0)and(REC<>4))and(NGASA<=8) then
gosub *SETKANO
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if FSETKANO=0 then FKMSBAD=1
end if

' modosi

if KBADTY=1 then BMN=BMN-1
end if
return

*SETKANO

'--par. | --

FSETKANO=1

' hantei

if KETUTY <=2 then
if ((REC=1)and(2*BM(I,3)-1>NGASA))or((REC>=2)and(BM(I,3)>NGASA)) then FSETKANO=0

else
gosub *KENSAKUJYUNBI
KUMASUN=KTKU:HBT=HHABA(I,1):HBY=HHABA(I,2): SUHEM=SUHE(I)
gosub *TATEKENSAKU
if KANOSET=0 then FSETKANO=0

end if

return

*KANSEI
AKIMASU=0
for T=1 to GN:for Y=1 to RN

if H(T,Y)=0 then AKIMASU=AKIMASU+1
nextY,T

if AKIMASU=0 then

FKAN=1
else
AKIHIRITU=AKIMASU/(GN*RN)
end if
return

*MUJY UNSY ORI
FMSTOP=0
MSYORISU=MSYORISU+1

if FMUSY =0 then

FMUSY=1

' koho_list

gosub *KOHOLIST

if KHN=0 then FMSTOP=1:FMUSY =0: return

" hikae_toru

for I=1 to GN:for J=1 to RN: HH(I,J)=H(I,J):HFB(I,J)=FB(l,J): next J,1
HIKAEBMN=BMN

for I=1 to BMN:for J=0 to 3: HBM(1,J)=BM(1,J) : next J,I

for 1=1 to BMN:for J=1 to 2: KHABA(I,J)=HHABA(1,J): next J,I
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for =1 to BMN: HSUHE(I)=SUHE(I1):HRECTY (I)=RECTY (l): next |
' atai_set
KVA=1
ASETY=1:gosub *ATAISET
else
" hikae_modosi
for I=1 to GN:for J=1 to RN:H(l,J)=HH(I,J):FB(1,J)=HFB(l,J):next J,1
BMN=HIKAEBMN
for =1 to BMN:for J=0 to 3: BM(I,J)=HBM(l,J) : next J,|
for 1=1 to BMN:for J=1 to 2: HHABA(I,J)=KHABA(1,J): next J,|
for 1=1 to BMN: SUHE(I)=HSUHE(I):RECTY (I)=HRECTY (I): next |
"' mujyun_ari?
if FMU=1 then
ASETY=2:gosub *ATAISET
FMUSY =0
else
KVA=KVA+1
if KVA<=KHN then
' atai_set
ASETY=1:gosub *ATAISET
else
FMSTOP=1: FMUSY =0
end if
end if
end if
return

*ATAISET
' -- par. KVA --
BIT=KHL(KVA,0):BIY=KHL(KVA,1)
if ASETY=1 then H(BIT,BIY)=KHL(KVA,2) else H(BIT,BIY)=-KHL(KVA,2)
if H(BIT,BIY)=1 then gosub *MAWARISIRO
ZOKA=1
return

*KOHOLIST
KHN=0
if AKIHIRITU<=MXAKIHI(LEVEL) then
' -- jyuni_AI1(RECTY=2,3,5) --
gosub *REC235KOHOSU
if KHN>=MXLEV(LEVEL) then KHN=MXLEV(LEVEL):goto *JYUNIB
" -- jyuni_A2(KANOSU=2_case) --
if LEVEL>=2 then
for 1=1 to BMN
if (BM(I,0)=0)and(BM(I,3)>=2) then
HBT=HHABA(I,1):HBY=HHABA(Il,2):REC=RECTY(I): KMS=BM(l,3)
NGS=HBT: if HBY>NGS then NGS=HBY
if ((REC=2)or(REC=3)or(REC=5))and(NGS>KMS) then
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gosub *KENSAKUJYUNBI
KUMASUN=KTKU:SUHEM=SUHE(l): gosub * TATEKENSAKU
if KANOSET=2 then
KHN=KHN+1:KHL(KHN,0)=BM(l,1)+SETKR(1,1,1)-1:KHL(KHN,1)=BM(l,2)+SETKR(1,1,2)-
1:KHL(KHN,2)=1
KHN=KHN+1:KHL(KHN,0)=KHL(KHN-1,0): KHL(KHN,1)=KHL(KHN-1,1): KHL(KHN,2)=-1
if KHN=MXLEV(LEVEL) then goto *JYUNIB
end if
end if
end if
next |
' -- jyuni_A3(REC=4_case) --
for I=1 to BMN
if (BM(1,0)=0)and(BM(l,3)>=2)and(RECTY (1)=4) then
HYB=l:gosub *MASUTI
if (BM(I,3)-KUMASU)>=2 then
for 19=1 to MIMASU
KHN=KHN+1: KHL(KHN,0)=MIM(19,1):KHL(KHN,1)=MIM(19,2):KHL(KHN,2)=-1
if KHN=MXLEV(LEVEL) then goto *JYUNIB
next 19
end if
end if
next |
end if
' -- jyuni_A4(KUMASU=1_case) --
for 1=1 to BMN
if (BM(1,0)=0)and(BM(1,3)=1) then
HYB=I:gosub *MASUTI
if MIMASU>=3 then
for 19=1 to MIMASU
KHN=KHN+1: KHL(KHN,0)=MIM(19,1):KHL(KHN,1)=MIM(19,2):KHL (KHN,2)=1
if KHN=MXLEV(LEVEL) then goto *JYUNIB
next 19
end if
end if
next |
" -- jyuni_A5(KUMASU_heya) --
for 1=1 to BMN
if BM(1,0)=0 then
HYB=Il:gosub *MASUTI
for 19=1 to MIMASU
HT=MIM(19,1):HY=MIM(19,2):ATAI=1:gosub *KHDBHAN
if FDBLE=0 then KHN=KHN+1: KHL(KHN,0)=HT:KHL(KHN,1)=HY:KHL(KHN,2)=1
if KHN=MXLEV(LEVEL) then goto *JYUNIB
next 19
end if
next |

' -- jyuni_A6(ariren_pair) --
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if LEVEL>=2 then
for TY=1to2
if TY=1 then LT=RN else LT=GN
forl=1toLT
gosub * AKIRENPAIRKOHO
for Q9=1 to APKHN:for 12=1 to 2
HT=APKH(Q9,12,0):HY=APKH(Q9,12,1):ATAl=-1:gosub *KHDBHAN
if FDBLE=0 then KHN=KHN+1:KHL (KHN,0)=HT:KHL(KHN,1)=HY:KHL(KHN,2)=-1
if KHN=MXLEV(LEVEL) then goto *JYUNIB
next 12,Q9
next |
next TY
end if
' -- jyuni_A7(one_erabi) --
if LEVEL<=2 then ONESENTY =1:gosub *ONEERABI
end if
"--jyuni_B --
*JYUNIB

if (AKIHIRITU<=0.05)or(LEVEL=3) then ONESENTY =0:gosub * ONEERABI
return

*REC235KOHOSU
REC235N=0
for I=1 to BMN
if (BM(1,0)=0)and(RECTY (1)>1)and(RECTY (1)<>4) then
NGS=HHABA(I,1): if HHABA(I,2)>NGS then NGS=HHABA(I,2)
if BM(I,3)=NGS then
REC235N=REC235N+1
KHN=KHN+1: KHL(KHN,0)=BM(l,1):KHL(KHN,1)=BM(l,2):KHL (KHN,2)=1
KHN=KHN+1: KHL(KHN,0)=BM(l,1):KHL(KHN,1)=BM(I,2):KHL (KHN,2)=-1
end if
end if
next |
return

*ONEERABI
' -- par. ONESENTY --
for T=1 to GN:for Y=1 to RN
if H(T,Y)=0 then
" duble_check
HT=T:HY=Y:ATAIl=1:gosub *KHDBHAN
if FDBLE=0 then KHN=KHN+1: KHL(KHN,0)=T:KHL(KHN,1)=Y:KHL(KHN,2)=1

if (ONESENTY=1)and(KHN>=MXLEV(LEVEL)) then return
end if

nextY,T
return
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*KHDBHAN
'-- par. HT,HY ,ATAI --
FDBLE=0
for DH9=1 to KHN
if (HT=KHL(DH9,0))and(HY=KHL(DH9,1))and(ATAI=KHL(DH9,2)) then FDBLE=1: exit for
next DH9
return

*AKIRENPAIRKOHO
'--par. TY,I --
APKHN=0
"sikiri_retu
SIT=l:gosub *SIKIRIRETU
for Q1=1 to SKN-1
S1=SKLIST(Q1):S2=SKLIST(Q1+1)
if TY=1 then H1=H(S1-1,1):H2=H(S2,I) else H1=H(l,S1-1):H2=H(l,S2)
' hantei
TYTI=l:gosub * AKISPASU
if (H1=-1)and(H2=-1)and((FKUM S=0)and(SPASU=2)) then
HT1=SPA(1):HY 1=l: HT2=SPA(2):HY 2=I
if TY=2 then swap HT1,HY1: swap HT2,HY2
' REC235_jyogai
gosub *R235JY OGAI
if FR235JY O=0 then gosub * APKHSET
end if
if (H1=0)and(H2=0)and((FKUM S=0)and(SPASU=0)) then
HT1=S1-1:HY1=l: HT2=S2:HY 2=I
if TY=2 then swap HT1,HY 1: swap HT2,HY2
gosub *APKHSET
end if
if ((H1=-1)and(H2=0))or((H1=0)and(H2=-1)))and((FKUMS=0)and(SPASU=1)) then
if H1=0 then HT1=S1-1:HY 1=l else HT1=S2:HY 1=I
HT2=SPA(1):HY 2=l
if TY=2 then swap HT1,HY1: swap HT2,HY2
gosub *APKHSET
end if
next Q1
return

*R235JYOGAI
FR235JY 0=0
if (S2-S1)=2 then
TST=HT1:TSY=HY l:gosub *GAITOHEYA
REC=RECTY (GHEYA)
NGS=HHABA(GHEYA,1): if HHABA(GHEYA,2)>NGS then NGS=HHABA(GHEYA,2)
if (FGAITO=1)and((REC=2)or(REC=3)or(REC=5))and(NGS=BM(GHEY A,3)) then FR235JY O=1
end if
return
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*APKHSET
APKHN=APKHN+1

APKH(APKHN,1,0)=HT1:APKH(APKHN,1,1)=HY 1: APKH(APKHN,2,0)=HT2:APKH(APKHN,2,1)=HY 2
return
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